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Directions: There are in all 24 questions in this question paper. All questions are
compulsory.
(i) vt & frefRa 3is 370 T sifed €1
Marks alloted to the questions are mentioned against them.
(iii)  TeD U B EAYAS Tiegd dn wHfud IR ol
Read each question carefully and answer to the point.
(iv) 5o e 1 agfaedia v #| 39 ¥ee & IRd WUs & IR # R faaey e
e &) w8 R s eRgfie o fafau yem T 2 @ 7 98 e sl
7o |
Question No.1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 7 are definite answer type questions.
(v) W €T 8 12 T Hid P IR onTH 30 i@l A diforel
Question No. 8 to 12 are to be answered in about 30 words each.
(vi) T TRET 13 § 19 T Ted ST FaR TN 80 Il H Ao

Question No. 13 to 19 are to be answered in about 80 words each.

(vii) T TR 20 3 23 7% TP BT AR TN 150 T H arforel

Question No. 20 to 23 are to be answered in about 150 words each.

(viii) W21 T 24 AT 1 Wi wawdl o vgaEe qen g 3§ wetta 2| il

T feq qon wRa & IFT-AFRE! B IR gRA@T H Herd difsiel
Question No.- 24 is related to identification and locating of geographical
features on map. Attach the given outline maps of World and India
within your answer book.
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1. () Fre=afoRaa # @ 5w weriv ¥ s=~iem gfs gaitts &2 1

(i) 3D (iiy 2ol ImRe
iy ufdmm (iv) TR RS
Which one of the following continents has the highest population growth?
(i) Africa (i) South America
(iii) Asia (iv) North America
(@) Pt d 9 I Auor v T8 &2 1
(i) @ (iiy =
(iii) N (iv) &%
Which one of the following is not a Plantation crop?
(i) Coffee (i) Sugarcane
(iv) Wheat (iv) Rubber
(M) foor 291 ¥ YoMt & AT B WUHGH Ued Tan T &7 1
(i) S (i) PR
(i) FGTB T IR (iv) 9
Which country has the highest density of railway network?
(i) Brazil (ii) Canada
(i) United States of America (iv) Russia

() FrfoRea A 5w yoR & afdl 98, 78 a1 7R & TR @t 82 1
(i) FEBR (i) Y&
(i) - T (iv) TER
Which one of the following forms of settlements develops along either side
of roads, rivers or canals?
(i) Circular (i) Linear

(iii} Cross-shaped (iv) Square
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®) Freffafe ¥ ¥ S W TR 78 o | e & 82 1

(i) 3R (i) e
(iii) ge (iv) Dl
Which one of the following towns is not located on a river bank?
(i) Agra (i) Bhopal
(i) Patna (iv) Kolkata
@) FrefRea § B 1 sitoifiies R 1 06 SRV R € 1
() FER (ii) Ui
(iii)y M (iv) ST O

Which of the following is not a reason of industrial establishment?

(i) Market (i) Capital
(ii) Power (iv) Population density
(8) Frfariad 3 ¥ fog af & veer W srdsn FaRa g ar? 1
(i) 1911 (i) 1927
(i) 1923 (iv) 1936

In which of the following year, the first radio programme was broadcast?

(i) 1911 (i) 1927
(i) 1923 (iv) 1936
(31) Frefiaa 3 ¥ waifte wgfia & oH-3 22 1
(i) SeTgA (iiy T
ORRUHERY (iv) Fags
Which one of the following river is highly polluted?
(i) Brahmaputra (i) Yamuna
(ii) Godavari (iv) Satluj
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2. ‘FamTagaR & Goeu fbem TR DI?
Who introduced the concept of 'Neodeterminism'?
3. fova o v v I fow wegiv # feh 82
Which continent has the least population in the world?
4. fza d aftsg 22 Y & wo @ & 1 TW |
Name the one main region of commercial dairy farming in the world.
5. OR-ATEaRae et fibw &9 & v sE et 27
The 'Trans-Siberian Railway' is a major rail route of which country?
6. WRd & fou Uy A wafftre dfawTse ur 3 272
In which state of India, maximum bauxite is found?
7. ARG YT B o s ad gge
In which year Indian Railways was established?
8. W4 YT & $T IU-831 &b A TR
Name some sub-fields of human geography.
9. WHd s A ra #2
What is human settlement?
10. U3 TR IER T &2
What is a Healthy City?
11. ¥Rd ¥ Gl a9 JT & WHIGERT & SRDI HT IE DITL|
Mention the factors of localization of cotton textile industry in India.
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12.

13.

14.

15.

16.

17.

ALY YT B W sargd| 2

Give the importance of Metro Rail.

Reg 3 ST B aR0T @ U @) FHITad 3R I SR Bl |iand quid BHiore 3

Briefly describe the factors affecting the distribution and density of population in

the world.

FER 3o I o fmr & IR0 Aied W S| 3

What is meant by household industries? Clarify with example.

WeTT=T HETAIRIT STern o) W SIan3il & 3eerd Diford | 3

Mention the main branches of the Pacific Ocean waterway.

0T Pd TR Sl A 3] gd3d | 3
Differentiate between Rural and Urban settlements.

AR & 7 arferer # wRa F e st grr Riw @ Rrar aftera fman man 2
AT &1 AT DIHC TAT IB T T BT TR G - 1%+1%=3
The following table shows the extension of irrigation in India by various means,

in their percentage. Study the table and answer the questions that follow -

hd

Qe e v GIGIC] 3
Means Canals Wells Ponds Others
yiaera 40.0 26.5 7.5 26.0
Percentage

() waithe R & A= a1 87 39 BRI Aol

Which is the most mean of irrigation? Give its reason.
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18.

19.

20.

21.

22.

23.

24,

(@) 3= e Q [arg & afaerd feaar &2 3= == 4 af5e

What is the percentage of irrigation by other means? Give its reason also.

HRA § URTET & T AeH SH-519 F 87 Wiae = 3053 e 3
Which are the chief means of transportation in India? Briefly mention.
THE FRA W FgE0T & THE B Jeerd e 3

Mention the effects of poliution on human health.

HRIEIT TR F 2 S ¢TH W R &° THIAET 5

How do nations gain from International Trade? Explain.

e F1 &2 e Bl WHIfad & aie dRa! BT faaror Sifse| 5

What is tourism? Give an account of the factors affecting tourism.

YRA # yarg & SR 3R gRomst @1 aofs S 5

Describe the causes and consequences of migration in India.

YR 3 91 76 & R vd g S @ e A 5

Discuss the development and major centers of sugar industry in India.

(@) e ™ fava & Iomifos Y@ amkm & ar @ ), Gi), (i), (iv) o9 3 o
T &1 A & T I B 3R R a2 B g ayr aEteE 3 ffea W w
I Hetl AW foRad- Vax4=2
(i) AT AEHNR U T HERINR B S areht Fa”

(iiy AT HY T 0F Fe< &
(i) T $T T@ aR U=
(iv) &l 3mRen & ve s 7 3w
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(@) Fr=ifsa @ Ra & A Mo TRfes [ar g ¥ auifed qon 39 v &1 9 6
o - 1x3=3
(i) ¥Rd & PRI TR IS 5T
(i) ORI 5T H AGeaaR i ub
(i) FTRIEUE FT G TR, & Io <Ay vud 2|

(a) In the given outline political map of the world, four features are shown by
(i), (ii), (iii) and (iv). Identify the features with the help of the information
given below and write their correct names on the line marked on the map-
(i) Canal connecting the Atlantic Ocean and the Pacific Ocean
(ii) Largest region of transplanted agriculture
(ii) Russia's main Airport
(iv) An important river basin of South America

(b) Locate and label the following in the given outline political map of India and
write their names also-
(i) Major tea producing state of India
(i) Software Technology Park in Gujarat State
(iii) Tourist town of Uttarakhand where the High Court is situated.

e . PrafeRaa 7o Pae el Wanfidl ag ue oo 24 S I R 2 -

Note : The following question is for the blind candidates only in lieu of question
l'lﬂ- 24_

frr=fefea wemi & R difse- 1x5=5
(i) 3eceifcd AERIR 3R T HERTR @ S all T6% & AW aarsa|

(i) afarft sMRe & oF TR =) AR &1 A T |

(i) B & PRI §a15 IO D1 A gdgd |

(iv) ITRIEUS & 39 e TR & AW §d1Se Sial 3o e fed gl

(v) ¥RA S WG T IAEH 159 B TH §d5d|
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Answer the following questions-

(i) Name the canal connecting Atlantic Ocean and Pacific Ocean.

(i) Name a major river basin of South America.

(i) Name the main airport of Russia.

(iv) Name the tourist town of Uttarakhand, where the High Court is situated.

(v) Name the major tea producing Stute of India.
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